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TN HERE = 1 31, 125, 540
HEEY FEE T = 1 7,930, 897
T 2 1 7,930,897 | Hlp 1 X
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SD345 D13 ;
kA 6 t
SD345 D16~25 ;
HilFL 1 X
VAR 157 m3
24-12-25(20) (E3#) ;
MRE T 2 1 473, 767
MRE T 3 1 473,767 |BRE (L 400 m2
brE (A 5, 100 m2
TR (BRAE) 1, 000 m2
TEH (BRE) 4, 500 m2
HEEWHE L 2 1 265, 664
KIEHAHE L X 1 265, 664 | RIBEBMHE 1 m3
ICEER = 1 19, 362, 510
EESFALER T = 1 19, 362, 510 | ¥l EES A£G 1, 500 m3
i £« FEIA 1, 500 m3
T 700 m3
T 300 m3
SRIEZE 400 m3
AR ETEIA - 100 m3
Wy 100 m3
BET 5290
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SN AL T =Y 3, 086, 830
AR T X 3,086, 830 | JEAMLER (5 #5) ! A
N EILEE (REAR) 1 2
JELEE (B4 EH 1 =
BB T Y 5, 872
TE LB T =Y 5,872 | BaEH 1 m3
/)Y - hik (AT
RISy 1 m3
/) - bk BEA%)
[ERAE Xy = 31, 125, 540
HiE 2 = 2,674, 000
HiE R = 379, 000
BGRESGESE (5 L) = 379, 000
B (FEHL) = 2, 295, 000
T = 33, 799, 540
Bl PRy = 11, 147, 000
T =5l = 44,946, 540
— R A = 8,473, 460
T =AM = 53, 420, 000
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